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6.1: Growing
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6.2: Slopes, Vertical Intercepts, and Graphs

Your teacher will give you 6 cards describing different situations and 6 cards with graphs.

1. Match each situation to a graph.

2. Pick one proportional relationship and one non-proportional relationship and
answer the following questions about them.

a. How can you find the slope from the graph? Explain or show your reasoning.

b. Explain what the slope means in the situation.

c. Find the point where the line crosses the vertical axis. What does that point tell
you about the situation?
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6.3: Summer Reading
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Are you ready for more?

Jada's grandparents started a savings account for her in 2010. The table shows the
amount in the account each year.

year amount in dollars

2010 600

2012 750

2014 900

2016 1050

If this relationship is graphed with the year on the horizontal axis and the amount in
dollars on the vertical axis, what is the vertical intercept? What does it mean in this
context?
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Lesson 6 Summary
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Lesson 6 Glossary Terms
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amount of sugar (cups) amount of flour (cups)

1

3 2

3

a. Noah and Lin buy a 12-cup bag of sugar and divide it evenly to make their recipes. If they each
use all their sugar, how much flour do they each need?

b. Noah and Lin buy a 10-cup bag of flour and divide it evenly to make their recipes. If they each use
all their flour, how much sugar do they each need?

(from Unit 3, Lesson 4)

3. Customers at the gym pay a membership fee to join and then a fee for each class they attend. Here is
a graph that represents the situation.

GRADE 8 MATHEMATICS

NAME DATE PERIOD

Unit 3: Linear Relationships Lesson 6: More Linear Relationships 2



�� �#�/��* .�/# �.'*+ �*!�/# 
'$) �.#*2)��4�/# �+*$)/.
( �)�$)�/#$.�.$/0�/$*)�

�� �#�/��* .�/# �1 -/$��'
$)/ -� +/�( �)�$)�/#$.
.$/0�/$*)�

��	������	����	�&��

���� ���� ���8��

���#���������!�����#���"�� " ��""��������!�������!�����#���"�� " �




